The

Many types of renewables

are intermittent, meaning

the UK still needs back-up 6
power, such as gas.” T

Energy
Challenge

Energy companies
should focus on
ensuring we have the
energy we need

Energy companies
should get out of
fossil Fuels and into
renewable energy

How do you reduce
carbon from energy
whilst keeping it
affordable and secure?

K The UK must achieve
carbon targets to
reduce CO, emissions ,
Q by 80% by 2050, We should use gas. It's

even if this means
higher bills.”

Renewable power is £
still more expensive
than fossil fuels, so the
UK can't just switch Energy companies
immediately.” e _____ should keep bills as

cheaper, heating 80% of
homes at half the cost of
electricity.”

low as possible

X

We focus our upstream efforts

on bringing gas to the UK. Gas

is transportable, remains widely
available and is the lowest carbon
fossil fuel. As such, it is an essential
component of 3 cost effective
transition to a low carbon future.
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In our downstream business,

we focus on installing energy
efficiency measures (o help reduce
consumption, which saves our
customers money, emits less carbon
and reduces stress on supplies.

The UK needs to
invest in our energy
infrastructure now in

order to keep the lights
on in the future.”



